o . BA-2011-00/03/06/07/13/13B Page: 1
BIG AIRKIT - YAMAHA V-Star 650

Custorm Accessoriss
i Mffbwm*
P i S

.. . CAUTION! We Strongly recommend that a qualified technician install this
Revision: 2.6 - 03/30/2010 kit if you do not completely understand the instructions prior to theinstall.

Install Time: 60 Minutes

INCLUDED IN THEKIT:

(1) Billet BAK Cover (1) Black BAK Backing Plate

(1) Re-usable Performance Air Filter (1) BAK Filter Raincoat

(1) Baron Jet Kit (BA-2410-00) (2) 1/4-28 x 1 13/16" Hex Bolt Zinc
(2) Mounting Arm SS (2) /4" Lock Washer

(3) M5-.8 x10 Button Head Screw SS (2) Aluminum Filter Spacer

(2) M6-1.0 x12 Socket Head Screw Chrome (2) M6 Chrome Washer

(1) M8-1.25x30 Button Head Screw SS (1) Tube Rubber Cement

TOOLSREQUIRED:

3,4 & 5mm Allen Wrenches 10 & 12mm Sockets
10mm Open-end Wrench Phillips & Flat Screwdrivers
Pliers (Std. & Needle-nose) Factory Service Manual

INSTRUCTIONS:

1. Remove fuel tank and air filter assembly per Yamaha service manual procedures.
2. Removetheair silencer box under the tank.

3. Install supplied BA-2410-00 Needle/Jet kit according to theinstructionsin the jet kit package being sureto
usethe Jets and Needle Slot setting called out for the external BAK filter assemble.

4. Reinstall the air silencer box under thetank.

5. Removetherubber boot from the stock air box. It is glued-in from the factory, but will come looseif gently

persuaded. See photo #1
7, \

Our install guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



z BA-2011-00/03/06/07/13/13B Page: 2

BIG AIR KIT - YAMAHA V-Star 650

Custorm Accessoriss
i ”M?&rf%m’m” —
P i S

6. Install the stock rubber boot into your new Baron air filter backing plate with the supplied glue. Squeeze glue
liberally into sealing groove in stock rubber boot. See photo #2

Allow glueto set up and dry prior to mounting onto bike.

7. Install supplied mounting armsinto the backing plate with supplied M5 screws.

8. Insert theincluded 1/4-28 x 2" Zinc Hex Bolts, lock washers & BAK spacersinto the backing plate mounting
holes. Slip one aluminum filter spacer onto each bolt and attach the assembly to the BAK cover, sandwiching
thefilter in-between.

9. Install the prepared air filter assembly onto the bike by diding the stock snorkel pieceinto the rubber boot
on the back of the air filter and pushing the exposed screw into the grommet on the bike. Align the mounting
arms and secure them with the supplied M 6 screws and chrome washers.

10. Reinstall your fuel tank and you areready toride.

Check throttle linkages for interference and for full range of motion, check all hoses for kinks, and check all bolts
and hardware for tightness. Also check throttle grip action for smooth operation.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



BA-2410-00 Page: 3

EA ﬁ@N NEEDLE/JET KIT - Yamaha XV650 V-Star 650 1998-2010

Clistorm Accessoriss
M‘rﬂ‘f_f‘i“fmm—}& o !

. Y
P

.. . CAUTION: Westrongly recommend that a qualified Yamaha technician
Re\/ISIOI’l. 35 - 0:”22/2010 install thiskit. Pleaseread ALL of theinstructions BEFORE installing
- | . beginning theinstallation.
Install Time: 90 Minutes iy e neeTeen

INCLUDED IN THE KIT:

(6) Assorted Mikuni Main Jets (2) E-clips

(2) Mikuni Pilot Jets (8) Cap head Allen screws
(2) Titanium Adjustable Needles

TOOLSREQUIRED:
10& 12 MM Wrenches & Sockets Phillipsand Flat Tip Screwdrivers
Assorted Allen Wrenches Factory Service Manual

INSTRUCTIONS:

JET/NEEDLE Size & Setting Chart

e STOCK AIR BOX or K&N REPLACEMENT FILTER REQUIRES: 100 Main Jet, 22.5 Pilot Jet, Needle with " €" clip
in #3 dot

e BARON CHROME EXTRENAL BAK REQUIRES: 112.5 Main Jet, 22.5 Pilot Jet, Needlewith " €" clip in #4 slot

e STEALTH BIG AIR KIT REQUIRES: 130 Main Jet, 22.5 Pilot Jet, Needle with " €' clip in #4 dot
You will need to remove and disassemble the following components:

e Fuel Tank

e Factory Airbox

e Carburetors
1. Remove the vacuum slide from the carburetor per Yamaha shop manual procedures.

2. Removethe OEM needle and spacer, noting the order of assembly.

3. Counting from down from thetop (Theblunt end closest to the grooves) of the adjustable needle, install new " €'
Clip in the specified dot of new adjustable Baron Needle as specified in chart at the top of this box.

4. Reinstall the OEM spacer under thee" clip just asit wason the stock needle.

5. Reinstall the vacuum dlide along with the diaphragm spring.

6. Be surethe spring base cap, small spring and its containment cap along with the larger slide spring arereinstalled in
the same order asremoved. Reattach the diaphragm cover and tighten it's screws.

Note:Verify the dide and the throttle linkage have full range of motion!

7. Drain thefuel from float bowl and remove the bowl cover.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



BA-2410-00 Page: 4

EA ﬁ@N NEEDLE/JET KIT - Yamaha XV650 V-Star 650 1998-2010

Clistorm Accessoriss
M‘rﬂ‘f_f‘i“fmm—}& o !

. Y
P

8. Removethe OEM Main Jet and Pilot Jet, and replace them with the appropriate Main and Pilot Jets as specified.
See Chart at top of box for proper jet sizes and needle slot/clip position.

9. Thoroughly clean theinside of the float bowl prior to reinstalling it.

10. Reassemble the carburetor by reversing the order of step #1 through step #9. Usethe new cap head Allen screwsin
place of the OEM Phillips head screws.

11. Repeat step #1 through step #10 for the other carburetor.

12. Locate the fuel mixture plug on each carburetor; it will either be a screw head or a brassplug. If it isa screw head,
skip to step #12c. If you see a brass plug with a small holein the center, proceed asfollows:

a. With a’5/32" drill bit, carefully and slowly drill through the fuel mixture plug for each carburetor.

CAUTION: Thefuel mixture screw islocated directly beneath thisplug. Be prepared to stop thedrill and remove the
bit the instant you break through the plug.

b. Insert a self-tapping sheet metal screw into the drilled hole and remove the plug.

¢. With air/fuel screw now accessible, use a flat blade screwdriver to turn the screw clockwise until it seats, then
carefully turn it counter-clockwise 3turns. Refer to step #15 for assistancein fine-tuning the setting of the air/fuel
adjustment screw.

13. FILTER INSTALLATION:
e |f you are maintaining the stock airbox reinstall the OEM air filter assembly now.
e |f you areinstalling a Baron external BAK, filter refer totheir instructions.
e |fyou areinstallinga STEALTH BIG AIR KIT refer to their instructions.

14. Check all vent lines, fuel lines, and linkage for any obstructions or blockage. Note: It isimportant to verify
proper throttle operation before starting the engine.

15. The adjusting procedur e requiresthe use of carburetor sticks or a set of vacuum gauges. The carburetors
must be synchronized in order to achieve optimum performance. This procedure should be performed by a
qualified Yamaharepair technician.

16. Check the engine at idle speed for any popping or back firing. If poppingisoccurring at idle: Verify the
air/fuel adjustment screw has been set to the recommended starting position as described in above step, then fine
tune+ or from thereuntil popping stopsor improves.(See Tuning note)

TUNING NOTE: Proper carburetor adjusting would include balancing which doesrequiresthe use of carburetor
sticks or a set of vacuum gauges. The carburetors must be synchronized in order to achieve optimum
performance. This procedure should be performed by a qualified Yamaha repair technician.

e For best results, we recommend the engine be adjusted on an Exhaust Gas Analyzer (EGA) toa CO reading
between 3% and 4% . Please bear in mind this per centage depends on various factorsincluding: Altitude,
Humidity, Temperature, Air Pressure, etc.

CAUTION: Theadjusting procedureiscritical. Correct carbon monoxide settings are key to maximum
performance. Do not overlook this step!

Contact usif you have any questionsregarding thisinstallation.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



